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Note : Before answering the questions, read carefully the instructions given on the
OMR sheet. ' |
&9 1 D)o emrwen [Fratdd duod OMR a2 HEHS" abgudd drdden =(idm J6308.

SECTION — I : MATHEMATICS ($e38 @°&9:00)

1 log ,axlog, y=

(1) loggy (2) log,a (3) log,x (4) log,a

2 If A={L2.3.4.5} and B={4.5.6} then 4 B.
A={1.2.3,4,5] 2ot B={4.5.6} vawds 4N B ang dewd

(1) A 2) B (3) {4.5} « {1.2.3}

3  The cardinal number of set 4={1,2,4} is
A :‘-{1,2.4} o3 258 5835 Domg
(1) 1 @) 4 3) 2 @) 3
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The zeroes of quadratic polynowmial a2 2v-R s
D . .
AT =208 DN Nt
(42 Q) 2,8 (3) L =2 () 1 =8

The HCF of 96 and 72  http://www.a2zsubjects.com
96 3oy 72 o 3w Dewd
(1) 96 Yy 2 3) 24 (4) None (28 &)

The LCM of 10. 20, 30
10, 20, 30 2 £>.5%
(1) 10 @) 20 (3) 30 {4} Noue (28 =)

33452 2,345,353 ;
The HCF of 2°%x3°x3° and 2" x3%53° is

A3 o2 2 ao 3
2P %3 X5 Hvod 2°X3IX3 eodd s

(1) 23x3%x352 (2) 2°x33x5 (3) 22x3x5° (4) None (28 we)
The value of log, Je
lOgE\/E D"..)Jé
| ' o
(1) 0 _ (2) 1 (3) e GV B

The solution of 99x+101y =499 and 101x+99y =301 is

99x +101y =499 Hdad 10_1.1:+99y=501 o PSD |
(1) 3,-2) 2 6.-2) (3) 2. 3) ) 3.2

“The line x=3y passes through  http://www.a2zsubjects.com

) (2 3) (3) 0. 0) CYRENN
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12

13

14

15

16

17

Roots of .-?2 +hr45=0 are !

X 46 5= 0 @y drvore
() 1.5 2) -l.§5 (3) -1, ~5 M 1, -5
Il roots of % +Akv+3=0 are equal, then value of '+

v ke+3=0 Slody, Woreren Ada’ 'k Sty dewid
() 243 @) -2V3 (3) £243 @) £3V2

Discriminant of ?..x?‘ ~Or+3=0 iy : http/’www.a2zsubjects.com
2x% —6x+3=0 Sy e
(1) 60 (2) 12 (3) 36 (4) 24

.
AT+ Tx+12=

M) (x+3)(x=4) @) (x+3)(x+4) @) (x=3)(x=1)  (4) Nonc (38 =)

It (P,2),(-3,4) and (7,-1) arc collinear, then p =
(P.2).(-3.4) 20608 (7,-1) e Bhoxrsd 'P' So¥y dewd

m-1 . @0 (3) -2 HOR

Centroid of a triangle divides each median in the ratio :
md;ess éd@m sﬁ)("ﬁsdgﬂf\)l DeseSoth ,'():;-Qg http://www.a2zsubjects.com |
(1) 2:1 2y 1:2 3) 1:3 4) 3:1

Slope of the line joining the points (4,-8),{5,-2)

_(4,—8)3 (5;—2) DochHeow ¥ Tp O, e

. |
OF- @ -6 () 6 @ -%
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18 If two triangles are similar such that ratio of their areas is 25 : 361, then find the ratio
of their corresponding medians

Bodh B8 |Bebere Prerge And 25 : 361 wond 26 wddrdr wegss Spe B3
(1) 10 : 20 (2) 5:19 (3) 20:19 (4) 18:5

19 The angles of a triangle are in the ratio 1:2 :3, then the least angle is
[Bzhe:06*d Sere B 112 1 3 wowd ©ohHd™d vd 28) Fuo Jewd
(1) 15° 2) 20° (3) 25° (4) 30°

20 The angles of a triangle are 3x+12°, 5x—6° and x+3° then measure of largest
angle is  http://www.a2zsubjects.com

28 (8302206 Bemen 3x+12°, 5x—6° D6k x+3° wond wothe® 08 W SFmin
(1) 69° C(2) 590 (3) 79° (4) 89°

21 Number of parallel tangents to a circle with a given tangent is
28 B)zrd8 AD 18000 ) Srods Spen Aakrwo?

(O 1 @ 2 (3) 4 @ 3
22 In the figure, area of the segment PAQ is $q. units.
D Hooid® PAQ &) Frogin 5. asiredéw
2 ' 2 2 2
a a a . a
— 2 2y —(m-2 3) —(n-1 ’ —
(1) - (m+2) @ {r-2) @) (rn-]) @ —(n+1)
Q

] P

http://www.a2zsubjects.com
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P AVB

In the above figure if PT =6 cm, PA =3 cm then AB ‘equals to
Emna‘ PT = 6 cm Doy PA =3 om wand AB dewd

(1) 2 em (2) 9 cm (3) 5 cm (4) 6 cm

24 The volume of a vessel in the form of cylinder is 4487 cnr and its height is
7 cm. then the radius of the base is
et (8 ROErEO 4487 e’ @@ % 7 0.0, vond o TgR6o

(!)- 2 cm (2) 8 cm (3) 6 cm (4) 4 cm

Total surface area of a hemisphere is  http://www.a2zsubjects.com

g Fgo By Sogrgde rego

-2
h

(1) 2mr? 2) 3nr’ (3) 4nr’ @) mr

26 1f the radius of base of a cylinder is doubled and the height remains unchanged, then
its curved surface area is

(1) double (2) three times (3) four times (4) No change
28 grdo Ewey argRrgeR), B0 A%, o K dErgyDoar dod od HEde Drrogod’ wbbhde
(1) 23w (2) 3 o& (3) 4 B (4) Sty oetd
97 If a right-angled triangle is revolved about its hypotenuse then it will form a
(1) Sphere (2) Cube (3) Cone (4) Cylinder
2.8 oo B [Bbard) oo do Sdorm [Fhmo B 6 ustEw
(1) Ao (2) i (3) Homd (4) prosto
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32

33

I (he angle of elevation of the sun is 60°, then the ratio of the height of a tree wigy
ity shadow is http://www.a2zsubjects.com

(1 1l (2) 1:4/3 (3) 31 (4) None of these
W B Xrdrgdz Do wde Bwo 60° e wons ¢ By Hoak o Mo, PdHe KDY
(1 i (2) 113 3) V31 (4) 26 s

A ladder 20 mts, leaning to the wall at height of 10 m. Then the angle made by it
horizontally is

20 D dy Ko el DY s 10 D M’ BHHNT © aﬁan‘a}%@é’" Soxn So
(1) 300 (2) 600 (3) 45° 4 75°

IF one card is drawn from a pack, then the probability of getting a king is
¥ 88 Dod vl FEHD ) Frr v over T @rbérd ogrdgd

‘ I 1 . 15
) 73 @) 3 5 @ 1=

From the definition of Probability P(E) identify correct statement.
DoZHgd (DS o HOGH Hhrero thBohod, htip://www.a2zsubjects.com

(1) P(E)=-1 (2) 0sP(E)S1  (3) P(E)21  (4) Nore (96 se)
The probability of getting 53 Fridays in a leap year is
l ' 3

(1) 7 (2) 7 3) 7 (4) .Nonc of these
&8 DYy vovEYBos® 53 Digarores oorie Hoardgd

2 2 l 3 3 4) b s
O @) = (3) (4) %8s
A bag contains 12 pencils, 3 sharpeners and 7 pens, then the probability of drawing

a pencil from the bag is

12 20yg0, 3 80 w0y 7 Wyen Ko 006" Hod 2l DG wave Babdke Hogrigd

5 4 3 _ 6
(N Tl (2) 11 (3) THR @
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34

39

lor whal value of ‘' 4, 6, a, 9, 10, 19 Will 7,5 be the median ?

' iy D Dendieh A, 6, 0, 9, 10, 19 o eigrido 7.5

(1) 6 (2) 10 (3) 7 @) 8

http:/www.a2zsubjects.com

[ Medinn = 60, Mean = 61 then Mode =

Brigeitio = 00, ity = 0] wond eriroo =

(1) 58 (2) 38 (3) 48 (4) 68

The AM. lor ungrouped dala is

- WBHN o sy

(1) 2 @ —E;,i O T o

Find the mean of first 10 odd multiples of’ 7.
7 @y, Besd 10 rhddere Wity 8808,
(1) 7 (2) 77 (3) 70 . (4) 700

Which of the following is not a measure of central tendency ?

(1) Mean (2) Median (3) Range (4) Mode
i (Bob o* ol l,?‘% Qe 8*d  http://www.a2zsubjects.com
(1) #few (2) wegso 3) w5 (4) emsowsdo
, I 2 .
[n an isosceles triangle ABC with AC=BC if B2 =24C* then £C
2= 2 a £LC

ABC ety B8 b Bgeriy (Bgbebnd® AC=BC w0y AB”=24ACT oo

| Q
(1) 30° (2) 90° (3) 45° (4) 60

CPOLYCET2019—C) 7
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40 In a right-angled triangle ABC right-angled at B. If £ and Q are points on the sides AR
and BC respectively. then which of the following is true 2

A4BC ooos's @pucs® ZB=90°. P Htat O endd s 4B ®oaw BC
Do o DodHTB (300 wiS° B Hegin?

() 40" +CP? =2(AC2+PQ2) @) 2(AQ2+CP3):AC2+PQ2
() 407 +CP? = 4C? + PQ? (4) None (28 o)
41 In AABC the sides are 6. 10 and 8 then A ABC is
(1) Right-angled triangle (2) Acute 'angled triangle
(3) Obuse angled triangle (4) None
6. 10, § 0. Foden tharenrr &%) AABC 2% Bzbein 0b
(1) eocass |Baweo (2) woyEw |Bebao
(3) =58 $w [Babeo 4) 28 =

42 From the given figure value of pp is  http://www.a2zsubjects.com

(Bod 3 208 QP W) Do..ew ¢H)B

(1) 3 (2) 4 3) V& ) 3
A
v 4cm
P
» 4 cm
B

43 The angle between a tangent to a circle and the radius at the point of contact is
o8 H)do FEFg=AS o) 3657808 1)6) Do 5 SFmo
(1) 60° (2) 30° (3) 459 (4) 90°
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46

47

48

49

If two circles touch each other internally. then how many common tangents can be
drawn ?

Both Byeren soddorr $)80HLB/SPE Ao diyd MG Bwe Jowg

(1) 5 (2) 4 (3) 0 ) 1

If > —3x2+dx+k is exactly divisible by x—2 then g =

Y3l tdv+k & x—2 apddore hodd k= http://www.a2zsubjects.com

(1) 4 (2) -4 3) 0 @) 1
- -

Solution of :_+i=13 and 3_i=.—2
X ¥ Xy

2-1-3 13 > _4 2

—+—=1> ———=-

X v =odHa x v & TG

1 1 1 1 1 1 11
M [*5-"5) @ [‘5’“5) @) (5’5] @ (“]

[f the system of equation x+2y=3 and 3x+ky+15=0 has no solution then k =

2d Hp&daren X+2y =5 Ddak 3x+hky+15=0 o DEE OB [ =

w9

3
(1) 6 @ 6 ® 3 )

If the system of equation 2x+3y =7 and (a+b)x+(2a—b)y =21 has infinitc number
of solutions then http://www.a2zsubjects.com

e Sogderen 2x+3y =7 woam (a+b)x+(2a-5)y =21 o udos FHen &l

(1) a=5.b=—1 (2) a=5b=1 (3) a=-1,b=5 (4) a=-1Lb=-5

If the system of equation 3x—2y— 7=0 and 6x+ ky+11=0 has unique solution then
wi 2ipsdeen 3x—2y—T=0 Dok 6x+ky+11=0 o I3 3¢S 408

() k=4 (2) k=4 (3) k=-4 @) k-4
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0 BST n 65" tan 45" tan 250 o5 = |
(1 (2) 0 (3) -1 (4) None of these

4y - _
MARS" tan 65 w439 1 25° wn 5° = http://www.a2zsubjects.com

(0 | (2) 0 | (3) - (4) 26 =cb

S0 1 sin 18" = cosx then y=9

SINLRY = O8N won® ¥ Hewsd dou?
(1) 730 (2) 370 (3) 720 . (4) 84°

S R

52 \J(secO=1){scclr1) =

(1) secO (2) tun0 (3) sinB (4) cotB

Lh
L

. 0 ' . .
I £ 4=60" then 3sin® A—dsind = http://www.a2zsubjects.com

Z4=60° wond 3sin® A—dsin A=

N NE -7 73
(1) == @ G 5 ) =

54 I acos@+bsin0=p: asin®@-hcos® =g then which of the following conditions is
true ? '

acosO+bsin0= p: asinl-bcosB =g wond & Bod T8 DB Destn?

(n frz-}-.".vz:pz -i'q?' (2) a2+bz=p2-q3
(3) ffz‘"bz::"z*‘qz 4 az-—b2=p3_q2

SPACE FOR ROUGH WORK / 0d 238 Seravouswdd gomw
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57

58

59

60

I _

Ir mnaz-};. 1*'1"[5:'3' then ({:r.-i-ﬂ):
] 1

tano =, tanﬁz-g wawd (a+P) =
(1) 30° (2) 60° . (3) 45° 4 @°
10U term of AP, 1 5, 1. =3, =7 ceeireenns
5,1, =3, =T...... wos (#8&° 10 5 defdw
(1) =31 (2) 31 (3) 27 (4) =35
Which term of the A.P. : 21, 18, 15, cveee is 302
21. 18. 15, ........ w08 @8S° —30 Joyd defdno?
(1) 16 (2) 18 (3) 17 (4 19
In A.P.. sum of n terms. S,; =  http:/www.a2zsubjects.com

wof BBS* S, =

1) -;—I[Er:+(n-l)d:| (2) %[a-{-(u—l)d]
(3) %[2a+(;1—1)d] (4) None (28 sc»)

If a,b,c are in G.P, then %=

a
a.b.c e GP. & a5, E:

n 2 5 5 L b
(1) - (2) b F) p () -
Distance between the points (=2, 3),(2,-3)

(~2,3),(2,-3) o dg drod

(1 52 (2) 0 (3) 52 (4 20

SPACE FOR ROUGH WORK / D& 308 $eranosenss gots
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SECTION — 11 : PHYSICS (&°88 w~%930)

61 Which of the following materials does not obey Ohm's law ?
(1) Silver (2) Cgpper (3) Iron (4) Silicon
& 1500 O 507G 65 dapErdy dedowscn?

(1) o (2) on (3) =i (4) 2O

62 Current always prefers to pass through
(1) Low resistance (2) High resistance
(3) High (or) low resistance (4) None
50080 SIPE) =rumeennennane Brdin rhoor Sard8 wiEchdon?
(1) d) % 268 - S () s dFfesEw
(3) Q0p% Bar sy D D8t (4) 28 =0

63 A wire having 10 ohm resistance cut into four parts each of equal length. The resistance

of each part of wire is _____ ohm. http://www.a2zsubjects.com

10 &5 6% o a8 Bt wrevtd 88 PdHeors 800D, 287 8 aritn By MR-
------ ERY

(1) 40 (2) 14 (3) 2.5 4) 0

64 10 resistors each having 100 ohm resistance are connected in parallel. Find equivalent
resistance in ohm. .

a8 66 100 &5 i deusd e 10 Aered Mirostorr O, 3OS A S £5.
(1) 1000 (2) 110 (3) 100 ) 10

SPACE FOR ROUGH WORK / 9 308 aravosnds gom
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67

68

In electric motor, current direction in coil is changed by
(1) Two magnets (2) Two slip rings
(3) One Brush one Slip ring | (4) ‘None

A5g8 Aresbes® ér‘i & rhoar (BsArod efogs BFD a‘:rﬁab

(1) Bok waparyooren " (2) Bodh 5 Bofew
(3) o @R &8 }S 8of . (4) 28 s

. When a current carrying straight conductor of length 2 m, moves perpendicular to

magnetic induction field strength of 2 Tesla with velocity 10 m/s, find e.m.f., induced
In volts. http://www.a2zsubjects.com

2m P do Dbgh (Ferid) o8 ) s 2 B woldy 08 FE SESH woworr
10 m/s o8 Schenikd), (08 dbgaryes wein ) beven?

(1) 4000 (2) 1000 (3) 400 - 4) 40

Security Checking Alarm works on which principle ?
(1) Newton ' (2) Lenz
(3) Electromagnetic induction (4) Ohm .

D drgo wersHd ";'o!-".rgbeﬁ BE werdin & Bpod?

(1) &rgead ' (2) o

(3) devgBandyos (w6m 4) &5

An A.C. generator is provided with slip rings.

(1) one (2) two (3) three (4) zero

A.C. ub66° 25 Borben Godra.

| (1) ese (2) Dotk (3) frd | (4) #rdgiw

POLYCET-2019—C ] 13
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6'9 The size of the image formed by a conveX mirror is always
(1) Enlarged
(2) Diminished
(3) Equial to the size of the object
~ (4) None
Hozrsed B8 6B [H3Dowdn JYDpdr

(D) D) Dodwd

(2) 056
(3) Harshn
4) 98 5%
70 The mirror used by a dentist is
(1) Convex (2) Plane - (3). Concave (4) None
God Whgd SidlrAodh S&ymin
(1) Hoerss (2) svde (3) Hers=s (4) 98 s

71 Diminished image is formed with a concave mirror when the object is placed
(1) at focus http://www.a2zsubjects.com (2) at centre of curvature

(3) between pole and focus (4) beyond centre of curvature
Derss S8 y@os® DHBH [HBHowo Porre0d) HyH------------ B oD,

(1) =98¢ (2) Hgo= So(csim ¢

(3) &ydaw ook TP ey (4) Yo So|ddw e

72 A straight line passes through the centre of curvature and pole of the convex mirror

" is called L _
(1) Parallel axis (2) Perpendicular axis
(3) Principal axis (4) None
Hogrs~d SEYH0 Gy 9)E Soldin Dot Gyiine mreoe ek WeBa-------wotr.
(1) Harods o (2) eowrgan
(3) ors vgw : (4) 28 5

SPACE FOR ROUGH WORKX / 08 508 Beronoswas Setn
' .9
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73 Bvery lens has tocal points

RS -G ReY dodran,

1) 2 ' |
v @) 4 (3) 6 @)

e

74 The I“b'my of eye lens.to change its focal length is called
(1) focal length of a lens (2) focus of a lens
(4) accomodation of lens

S0l Shasin &% Trgfgosding BOYON mgegd)

(3) magnification of a lens

---------- wodrd
(1) S8 maiosesin (2) soimp
(3) sy uég?b:ﬁn (d) sy a&g_:m

The angle of incidence at which a light ray docs not undergo refraction
o D85 St 5 o8 B q&m Bodeh?  http://www.a2zsubjects.com
(1) 0° (2) 300 (3) 450 4) 90°

76  The distance between the eye lens and the retina for healthy cye

B rigHosd Gngy S )S° 508, Btk Dgg drdo

(1) <25cm (2) >235cm (3) =25¢m (4) None (V8 seb)
77 Hypermetropia can be corrected using lens.

(1), Concave (2) Convex (3) Bitocal (4) None

BTSSR ==-===mmm Serand® H0TBand . |

(1) Hérsed (2) Hoersy (3) g sugods (4) Db wcho

78 How many times does the light ray refracts when it passes through a prism ?
8 5708 8mitn o rhooe [Haxrfolpd A7) Hlatin Bodehod?
M 1 ) 2 (3) 3 (4) 4

"SPACE FOR ROUGH WORK / 0 08 Siravodudd joy

PT.0.
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Applying Kirchoff current laﬁr to Junction '¢" the value of ¥ — X = Ampere
D00 'C" B¢ 88° ) 88065 ;Joﬁa:a;)i &d@Braod ¥ — X = es0danb
(1) 20 (2) 10 (3) 8 @ 0

http://www.a2zsubjects.com
80  Within the solenoid magnetic lines of forces...........
(1) Pass from South pole to North pole
(2) Pass from North Pole to South Pole
~ (3) North to South and South to North
(4) Does not pass

' 'Eh*‘é)anm.:@ %0 wahry o8 webpen
(1) &8 5ydo od a38 ¢ydo B |Praran.
(2) &8 Sydo od B8 ¢ydo By (Bdirarow.
(3) @gbo Iod gl DO w0 Hod &¥o-I8

(4) eden @rody).

81 When a current passes through a straight conductor, magnetic field surrounding conductor
will be . http://www.a2zsubjects.com

(1) straight lines (2) parabola (3) closed circles  (4) hyperbola

2.8 83)9 g Hom gh BEPHIIPD, ) Der DB wandy o8 T

(1) eBpen (2) sordeabo (3) 20%)8 toaren  (4) w8 sorsoold
I

SPACE FOR ROUGH WORK / % 508 Seravosads g
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83

84

85

86

~ {1) Refraction

1f a charge 'g' having m )
i g mass "m" moves H - -
; ; icnlar 1o meenenic mdaction S2iE TS
with velocity '9* then, the radius of o perpenin rio m:rﬁ#}.. indoet S2id <3
wcular path of moving COzER
" 1135:'301% e 1q'l &38R, 3 E o i < s o5
‘ RS ETIRFE Sl ooz
250D, YRR 88 3
< 50 &
- ES0 gty Qg =g

(1) mS/Bg ) Bg/md

——

(3) miBg 5 08

The reason for rai '
Inbow IS  http://www.a2zsubjects.com

(2)* Dispersion
(3} Total Internal Reflection (4) All the above
20|85 SR YLD seSwIv
(1) H8asiein | (2) o
(3) BoLrgross HomBdHm & =

If more water molecules are present in the aumosphere the skyv looks -

(1) Blue (2) Red {3) White (4) Black
T dSeodt M sruHen JZIT AV S EEn-----CoDE" SN0,
(1) deo (2) WP (3) 3D (4} Sep

The cause for the movement of electrons in orderlv motion inside a condusior is due
10 . hﬁp:.f'.f'uwm-'.azzsubjects.com

(1) Resistance (2) Battery (3) Lattice (4) Positive woas

TrdrEine® Jogrger 0] AIS® SB0mrll 20 sES?

(1) 260 (2) wrgd (3) oS {4) & sardw

The S.I. unit of electric current is
(1) Coulomb (23 Ampere (3) Volt () Ohm
DegB eI Gogy, S.1. [Srmaw

(1) grevod (2) wodond (3) &9 ) &5

SPACE FOR ROUGH WORK / 2% 08 Seronosads join
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89

90

(1) Colour blindness

The image of an object placed at infinity befor¢ 2 convex lens is formed
(1) at foeys (2) at centre of curvature
(3) at infinity (4) None of the above

VOIS S8 108 wod wrod® GoDb sindy By, B8N0 G IS o
(1) =B g

(2) e Sosin BF
(3) w0 drgost

(4) 32 =R

The power of a lens js

S8 Gty FHgio
@

http://www.a2zsubjects.com

1 |
() D=—o @ p=2 @) p=12% @ p=10
cm

cm m

cm

Which of the following is correct equation ?

& (Bob wre3s® ‘é‘)&é&.ﬁﬁ BoLEGEn  http://www.a2zsubjects.com

. [ A+D .
1) ?-E_SH.{ 2 ] , [sinAzD]
"~ sin4 | 2) n=
S1nn -4
in %) sind/
sin[A-l_D)
o = 2 . ' sinA;D
) sing ' (4) n=

) 'sin‘ty2

The defect of the eye caused by old age is

) Myopia

(3) Hypermetropia (4y Presbyopia

Hyerigin Hed Henrd godS &%
[~ ]

(1) 3 wossgss @) wog ey
(3) aros (4) Somgosmy

__’//

8 Beronoseds e
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SECTION - 1II : CHEMISTRY (300555 et
covalent bond is absent in
Lgoﬁ mvﬂé" mﬁrabob EJDQSD éﬂ @m‘éﬁ?

(1) HyO (2). HCI (3) Na,0 ) NH;

Which of the following Anions has Ne configuration ?

¥ (300 vdories® Ne' 0TS Ao SPoddd IB?  http://www.a2zsubjects.com
(1) CI” 2) 0% (3) P (4 Br

The bond angle in BeCl, molecule is
BeCl, %08 206 S0

(1) 109° 28' (2) 1200 (3) 180° ) 104037

An example for polar covalent bond is

Sy 8 HH@EraHan orrdd sordrdn

(1) H-H (2) H-CI (3) CI-Cl 4) F-F

Which one of the following is correct statement in case of covalent compounds ?
(1) These are crystalline solids (2) These are soluble in non-polar solvents
(3) Their reactions are very fast (4) They have high m.p. and b,

s @radon $B;Fwe Xovos® (8od IS 2B TOTIE?

(1) = 5838 &rd S Borgren (2) =D 03y EEros® Shidvera.

(3) N3 tﬁ'dgm wd Brfore abrberon. (4) De38 15Dasss, s Fimen MR
Froth floatation method is used for http://www.a2zsubjects.com

(1) Reduction of metal oxide (2) Concentration of ore

(3) Extraction of metal (4) Purification of mital

555 (P800 BIB SIArHTH?

(1) & U35 gonsswo 2) e odstno

(3) &% doysdrmo (4) &' 0o
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| (1) CaCl, (2) CaO (3) Ca(OH)2 (4) CaCO;

The element with highest electromgatml}f among the following 1s

o8 et g oo g S Ke Ko dureo NP www.a2zsubjects.com

o @) N @ 'C 4) B
Which of the following is smallest size cation ?
SE) S HBIrmo Ke S (Bod ood3St 067

In a Dobereiner's triad, the atomic weight of first and third elements are '7' ang 1y
respectively. What is the atomic weight of middle element 7

&8 o208 B80S Bacsts reto BBk s faredo Bk groren DOV 7' Hoak iy
s dreo Engy Kiirm rdo Joi? '

(1) 14 (2) 20 (3) 23 (4) 46

Which of the following is called as ‘electron deficient molecule' ?
(808 =¢36° B Joge9S B wew) wotrd? |

(1) BF; (2) CHy o (3) HIZOI | (4) NH,

Quick lime + water ——'X" http://www.a2zsubjects.com

The chemical formula of the product '} ig
Pa oo + X ——'X"

——"“—/
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which of the following

iS not a correct | . .
cbstance in & chemical symbol, for expressing characteristics 0!

y equation ? http://www.a2zsubjects.com

{) s = sol 2) 1= liqui

() e (2) 1= liquid (3) g = gas (4) p = precipitale
grolR SDECROS” Dardo AnEy, ofmrdy BOED Hhes® 98 @S s°d?

(1) 3 = ¥ (2) 8 =& 3) = oty (4) © = i
In the below equation, the values of 'x' and 'y are :

[Bob HEGS” X' wbatn 'y Gy, Dewiden :

C3Hg +'x'0y ——'y'CO, +4H,0
(1) 5.6 2) 53 (3) 3,5 (4) 6,5

Which one of the following is not a base ?
1Bod ar¢36° BrdEn 520
(1) HCOOH (2) NaOH (3) KOH 4y Mg(OH),

When a metal carbonate reacts with acid, the products are

(1) Salt + H;0" | @ Salt + H,0+CO3

(3) Salt + H» (4) Salt + H,0+Hp

Ship 5oB° YR wErol SEgToRTIPE Deydd  hitp//www.a2zsubjects.com

(1) esmo+ H30" (2) otwo + Hy0+CO;

(3) edwmo + H» (4) obeo + H,O+H;

Aluininium is extracted from which of the following ores ?

106
(1) Haematite (2) Bauxite (3) Cinnabar (4) Lime stone
Bod RS" 20 werghdano Ay g aErA0E Pl rdY?
(1) wops (2) =By (3) ety (4) @Hyorad

. POLYCEE2019—C]
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17 Which of the following methods §s ased for B *“'-’:h"’ﬂ‘
{1} Magnetic separation 2) Rass<iRg

(3) Catinaton -£4“" DT
Mvﬁéﬁ-&gemﬁag.-M?
(1) Doty 0% Sores 32 () S
{3) Zipssany (&) oS
108 Number of mniybridized o orbimsls aromnd sach Saron O3y, maleme
CH, emp st =535 Sos Soadtse Tom P apmee o
=2

1y 0 Q) 1 3 2

- - - ~ 2 -—'--; - i
109 The product formed in the reaction of @ carboxylic 253 End &1 Fioohd T2 D TR
of conc. H_?,SO.; is an http://www.a2zsubjects.com

v B e
i"-" LR

(1) Aldehyde (?) Ether (3) Alcohol
8 HyS0, 59506 28 o808 w0 58 woySE S st == Sy eaT
(1) o025 (2) %5 (3) wo5RS RIS

110 The formula of Chloroform is
FE>D oo
(1) CH5CI (2) CH-Cl, (3) CHCY4 Y QY

111 Which of the following is a Saturated Hydrocarban 7 http://www.a2zsubjects.com
(1) Cyclopropene (2) Propene (3) Propyne ) Propane
[Bod &S DB Tod) TE SE)?
(1) 28 @55 (2) @%=5 G) ¥ () =%

112 On mixing with water, plaster of paris mrns into
DS 505V 6 6T ;BT TIT heon?

(1) CuSOy, SHyO (2) CaSOy, 2H,0  (3) CusO, @) QaNQ,, TH

p—

SPACE FOR ROUGH WORK / % 338 Sercwosati gome

fJ
[0S

e

- POLYCET-2019—C]



1y ool decny Stwts when the 'pU' of the mouth 1

i. (N below §.3 (&) Detween 8.8 9 () between 7 - 7.5 C1y beyond 7.5
| sot o @ Pl dews e (R Bogitanebon?

(1) 5.5 dodd 8t (2) 5.8 7 tilg

http://www.a2zsubjects.com

RO A A T T G 7.5 obelayst

o and 1 values Tor the electron fn "2p' subshell are
' aREEI80 AN dopgl dwtly, ' today ' Devben
=200 @un=l/=0 Go=2/-1 Hn= L]

(5 Which clement has the clectronie conliguration [w2 2u? 2p0 Bu= 3p Y
dogry® dargo 152 242 2p0 352 3’ 1w drodh dreo D67
(1 S (2) S (3) P ) Cl

16 The maximum number of clectrony in o subshell iy glven by hitp://www.a2zsubjects.com

el d;béd;)ﬁod}* oB (03 Jogreive Howgw B

(1) 2(2/+1) @) 20+ @ nel @) 2

117 The lonization cnergy of BerylHum is more than (hat of Boron, beeange Beryllium T
(1) more nuclear charge
(2) less screening - cffect | |
(3) morc penetration power of '2§' than "2p
(4) more atomic radiuy
BbDovo wandito 48 o ot Msyh. dochirr BbDavo Gy,
(1) deopyd Bosth o
(2) 8tops bgaRoh HDE0 |
(3) '25' w0yLSE 2p' ey oy BE o5 vggrto
(4) oy d DS argirgo
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118 Which of the following is not a conductor of elecimiciny ?
(1) Nanotubes {2) Graphene (3) Diamond 2) Gruphiie

& Bod =DE” Debgorgirdin w  http://www.a2zsubjects.com

(1) =8 dargenen (2) |5 (3) dpe (4) =25
119 The alkane which can show isamerism is
| (1) Butane (2) Ethane (3) Methene () Propans
B e yTel) SR 3555
{H wgiﬁs (2) &85 (3) as (4) &5

120 The process of conversion of starches and sugars 1o Etv] wicohol i called s
(1) Esterification () Sapomificadon
(3) Dehydration (4) Fermanmation
D08 Bormren D 38 Co BHS wep S T B TS
(1) Xbsse
(3) &@SS

2) SEES
() Z=p mEon
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http://www.a2zsubjects.com

POLYCET-2019—C 21



